
= 1

donc :

(A+
k Ak)

t =

(
A+

k−1A
t
k−1 − A+

k−1akpk+Ak−1)
t A+

k−1ak − A+
k−1akp

t
kak

0 1

)
=

(
A+

k−1Ak−1 0
0 1

)

or A+
k−1Ak−1 symétrique, donc =

(
A+

k−1Ak−1 0
0 1

)
symétrique.

pour le cas particulier : pk =
(A+

K−1)
tA+

K−1aK

1+||(A+
K−1)ak||2

ptkak =
atk(A

+
K−1)

tA+
K−1aK

(1 + ||(A+
K−1)ak||2)

=
‖ (A+

K−1)ak||2

(1 + ||(A+
K−1)ak||2)

ptkAk−1 =
atk(A

+
K−1)

tA+
K−1Ak−1

(1 + ‖ (A+
K−1)ak ‖2)

=
(A+

k−1Ak−1A
+
k−1ak)

t

(1 + ‖ (A+
K−1)ak ‖2)

=
(A+

k−1ak)
t

(1 + ‖ (A+
K−1)ak ‖2)

�gure :L'organigramme de l'algorithme de Gréville
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